CITIZEN

Service Manual

DOT MATRIX PRINTER
MODEL CBM-710/720

Rev.1.00 Newly issued on Mar, 1989

Japan CBM Corporation

Download from Www.Somanuals.com. All Manuals Search And Download.



CONTENTS

Chapter 1. Printer Disassembly and ASSEMDBIY .........uuuuiiiiiiiiii e e e e e e e e eeeeaeeens 1.
1 How to Remove Upper Cover and REAI COVEL ........oiiiiiiiiiiiiieeeaiitieie e e sttt e e e s eietee e e e e eneee e s 2.
2 How to Remove The Printer MECNANISIM ..........iiiiiiiiiiiii et 3
3 How to Remove the Control BOA ..........ccooiiiiiiiiiaiiiiiiie et ennee e 3
4 How to Remove the Power Board and AC POWEr UNIt .........ueiiiiiiiiiiieee et Aoeeee
5 How to Remove the Auto Cutter (CBM-720 ONIY) ......cuiiiiiiiiiiiie e e 5.
6 How to Remove the Operation Panel and PE SeNnsor ............cccociiiiiiiiiniiinc e 5.
(O F=T o (=T g2 @31 (ot U | D 1= ST o] ] 11 o] o 6
A O U111 o = OO PUPR T PPPPPPPT 7
A 8 e U =T T o] =T = L o ) SOOI 8
3 Printer CONLIOl CHIMCUIL ..uvvvviiiiiiiiieeceeee et e e e e e e e e e e e e e e s e e emmmmmm——— e e e e e e e as 10
O 1= o @fo] i £ I O [ (o] U || TSP OPPPPP 11
5 Interface and Operation PAnEl............ooiiiiiiiiiiii i e e e e e e e nn e 12
6 Paper ENA SENSOT CIFCUIL ....eeiiiiiiiiiiee et ee ettt ettt e e e ettt e e e e e aebb e e e e e e e ene e e« s £ 241+ 13
7 Parallel INTErface CIFCUIL ........i.uiiiiie ittt e et eee e e e e e ermebreeeeeean 14
8 Serial INTErfaCe CIICUIL ........eiiiiiiiiiii ettt e e e e emr e e e e eae s e nbeeeeeas 16
9 RSA22A INEITACE CIFCUIL .....uuiiiiiiiiiiiiiie e e e e et e e e e e e e e e e e e s s e e e s s ennnnnararaeeeeeees 18
10 POWET SUPPIY CIICUIL .eiieeieeeeee ittt e e et e e e e e e e e e e s s s s e bttt e e e eeeeeeeeeeae s nnmmmneeeeeeeeeens 19
(O P o) (=T g T AT | (o TN O 1 1 (= USSR 20
1 Maintenance and Handling ...........ooooiiiiiiiiiieee e e e e s s e 21
2 Mechanism and Principle of OPeration ..........ccuuuuiiiiiiiiiiiiieiieee e e e e e e s emmmmmmmmnae s 22
I = =T o F= 1] o = Va o I I £ 101 0] (=S o o i1 o S 24
4 Disassembly and ASSEMDIY .......ooiiiiiiiii e —————— 26
(O gF=T o) (=T g @3 (o U 1| D =T | = o R 28
I o Y= ST o] o] VK 4 o] PSR 29
A o T IY N 11 = O o] U | R RTPPORY 30
3 0Operation PANEl CIFCUIL ........eiiiiiiiiiiiie ettt e e e e ettt e e e e ettt e e e e e+ — e 30
4 Paper ENGA SENSOF CIICUIL ..uuuuiieiiiiiiiiiiieeee e e e s s eee sttt ee e e eeeaaeeaeeeaaeaasssaaannss s s o— 1 30
RO ] =N [V o Tt 1o o IO (ol U | S PPTUPPPPO 31
B PArallel ... .. e ——aaaaaeaaaaaaaa e aa 32
A 35772 7.4 OSSO 33
B P S22/ et e ettt e e ettt e e nt e e s —— e n e 34
Chapter 5. PArtS LISt ....ccoiiiiiiiiiiie ettt ettt e e e e e e e e e e e e e e e ene e e e 35
I T o] o T =0 BNV 1= 36
P2 = (o Ted 1l DI T= Vo | = 1 4 [PPSR 41
3 POWET SUPPIY UNIE ...ttt e e ettt e e e e ettt e e e e e e tbb e e e aeaenmneeeeeanseeeeaeeans 43
[0 R 11 =T O o PP PPP PP 45
5 Control Board Unit: RS232C .......cooi ittt e e e e e e e e s s s 47
6 Control Board Unit: Parallel .............ooooiiiiiiiiiiee et mmmmmmmmmm e 51
7 Control Board UNIt: RSA22A ...ttt e e e e e 55
8 OP Panel/PE Detector/OP JUNCHON UNIt .....uiiiiiiiiiiiiieceee e e 59
LS I U | (o T O U ] PSPPI 63
O 1Y o = PP TP PPPPPPP 67
|

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Chapter 1

Printer Disassebly and Assembly

1

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

1. How to the Upper Cover and Rear Cover

1) Unfasten 4 screws (M3 x 6) as shown in the figure and lift the upper cover upward, while disconnecting the
connector.
2) Unfasten 4 screws (M3 x 6) at both sides and remove the rear cover.

Upper Cover

Connector

Rear Cover

2

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

How to Remove the Printer Mechanism

* Remove the upper cover.

e Unfasten 2 screws (M3 x 14) as shown in ?
the figure.

« Lift the printer mechanism in the arrow
position for removal. ?

S

2N
Printer Mechanlsm\\ ﬁ

S

&)
33

How to Remove the Control Board

» Remove the rear cover.

 Disconnect each connector.

« Unfasten 4 pieces of board mounting screws
for removal of the control board.

Control Board

3

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

4. How to Remove the Power Board and AC Power Unit

1) How to Remove the Power Board
» Disconnect 2 connectors.
» Unfasten 2 screws (M3 x 8) and 2 tapping screws (M3 x 8).
* Remove the board, paying attention to the lead wire.
2) How to Remove the AC Power Unit
» Unfasten 2 inlet set screws (M3 x 10) and an earth wire mounting screw (M4 x 6).
» Unfasten 2 noise filter plate mounting screws (M3 x 6).
» Unfasten 4 power transformer mounting screws (M4 x 6).
 Disconnect the connector at the secondary side of the power transformer and take away the entire unit.

Power Transformer  power Board

Noise Filter Plate

4

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

How to Remove the Auto Cutter Unit (720)

* Remove the printer mechanism from the main body.
* Remove 2 E3’s as shown in the figure.
e Pull out the shaft in the arrow direction for removal of the auto cutter unit. (Note that 2 spacers come off at the

same time).
" Auto Cutter Unit
6’3‘
// -
& / 9

Spacer

™~ Printer Mechanism

How to Remove the Operation Panel Board and PE Sensor Board

* Remove the upper cover and unfasten 2 tapping screws for removal of the operation panel board.
* Remove the printer mechanism and unfasten a screw for removal of the PE sensor board assembled with the F
sensor holder. To remove the board only, remove the lug of the PE sensor holder.

5

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Chapter 2

Circuit Description

6

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Outline

A block diagram of this printer is shown in Fig. 1-1. It consists of the control circuit centered around CPU, ROM,
RAM and peripheral circuits, interface circuit for interfacing with each host computer, operator panel circuit for
operating switch input and LED display, printer mechanism, auto cutter, and power circuit for furnishing power

supply to each part.

Operator
Panel
0OSC 7.37MHz
Winder
(Option) ‘I
A
— Auto 7]
Cutter Draiver Address
Printer Timing
1/0 | o
Expender | —o—o—
Dip
v - Switcn
Interface
I | Power
DCSV  DC24v Failure Paper End
1 * Interrupt
-Reset
o Power
AC Source

Fig. 1-1 Block Diagram

7

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

CPU Peripheral Circuits

1) CPU and ROM/RAM
The CPU M50734SP has a external memory type. Lower 8-bit address is fetched via the A0/DO bus line by
the 8-bit latch LS373. The 128-KB ROM and 64-KB RAM are used for performing the backup operation for
power failure by the super capacitor. The ceramic oscillator is used as CPU clock and transmits 7.37 MHz.

1C2 27128 IC I vee
20 20
'0_1;:? vee HPD4464C S3
3]0 1 10 n0 a1
8]’ 27 9, -8
2 a VO
7 13 712 =<Cig
101RH| g c 6 3 3 3 ; 104
x2 = 10 = S 11 4 11
[0sC1737T 3]s 003 5|5 00Hz
D}__< 6 1 4 1
— 3 13 6 13
25 ; 515 2g 7 § 15
Wy 24
30| RIBIM| 4, EXB 8 248 4 :g
t0  gHZ 21 17
ﬂpXIN XouT 2314, sH8 >3 10 2._12
&1l7% 1c1 Fa BT
- p— 1
52 507345P U3 GE Wwiss
1 22 v
374 A0 {29 2o 102 2727 |e6
3]s 1 (56 80 8Q =
6 2rEE i 202015
_4] 3pes 70 7018
5|’ 523 1420 o
53
B iR s
12 oc
415 49
513 ALE [Ga 11 1
M ud
. =
. 44
Bie2o 12
15/} 14137
1g|d
ag)3
298
21
2o P30
23!
242
=3
26ld
271> EeEL
= wa 133
33 w055
134/740 RESET I
Ez
362

Fig. 2-1 CPU and ROM/RAM Circuit

2) Initial Resetting and Power Failure Interrupt Circuit
The IC12 is an IC for generating the power failure interrupt signal and reset signal. When the power supply
voltage decreased due to power failure, etc. this IC performs the voltage inspection and stores all data in the
CPU buffer into RAM while printing.

8

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

As can be seen in the timing chart, it detects that Vcc decreased up to about 4.5 V for power failure and
generates the power failure interrupt signal and sends it to CPU. Upon receipt of the signal, CPU transmits
the data in its buffer to RAM. This processing is done within about 200 ps. After about 1 ms, the reset signal
is generated at IC12 and given to CPU, etc., causing all circuits to reset for prevention of explosive running.
When the power supply is turned on, reset is released after Vcc increases up to 4.5 V or more and then initi
setting is performed. The WD terminal of CPU is called “Watch Dog”, which is the output terminal used for
explosive running.

{
Vee Tr1 25a1175
— Po1 E
RAM
S2 3 2A8
CPU E1 Lloo
M50734Sp “c7
1 Super Capacitor 0.047F
WD 59
RESET |29 25C27685
' 13 ” 12

471;’;

External Reset Input
(To interface circuit)

LSt q 2, :
cs : I .121IE
@

vee

R7
3.3K

Fig. 2-2 Power Failure Interrupt Circuit and Initial Resetting

4.5V 4.5V

{5 ~
vee (5V) _), N

1
I Power failure interrupt

o " signal generated
(Power Failulrg-ll-nterrupt): i
Reset :, :
About 1ms -—IL— =!'w— About 1ms (Data stored)

Fig. 2-3 Timing Chart

9

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Operation Panel

Printer Control Circuit

1) When L is output to the CPU port P31, the motor rotates and a timing pulse appears at the DP terminal of
CNS5.

2) After rotation of the motor, printing starts in timing at which the port P34 is changed into L from H by the
home pulse of the printer.

3) In 9 ports of CPU output ports P20 to 27 and P30, the L pulse is output to the necessary port. Electricity is
applied once to the DOT solenoid for two timing pulses and characters are printed.

4)  The paper is fed when the CPU port P33 becomes L in the specified timing.

5) Color is changed when the CPU port P32 becomes L in the specified timing.

vce

I:f-' TAY V-$£
HA13408 ,
s S o Uk . A p20
8 | =28 Hz 2 e nl
13 | =132 k 73 4
CNa G 7 |=p8g— Ll 4 4 g 313
9 Y 0L O LK 7 A ik
= ‘2 SOL (sg g 4 “MC‘_ ik
179 E 1" Q0L 17 s s L “'f"‘: : |
S | ==+ L8 21 8 8 I ; :
: = s o s P30
YP s 3 ICBLSO4  RA2 9-10k0 -
| T
1.8.9.10 | == 10, 1A8 ’J, 22 N vr_c z‘g
15 | —4— TA2STA4DIA L4 1ko . A 325
MOTOR 3 2 2 ~—ig-10ka 2K .
2 | o1 NS 4 oF -
CCsou S 2 2 L NN A 4 @[ A 23‘7 "o gg
LS Ha afS—w £ e B pa0 W?-.—
— i IC11 741514 =3 _’;; AEseT 122
1 [ R‘Zv.v‘vLm & r-v_c_s ’l' ‘;53
2 | - A3 |
3 - —_—
CNS - 4
s
=
9P r 6|
7 .
8
g
—
1 - X
5 | - .X ;
CN6 | Ci6 a7 I ——w~ !
C17 471 | 1 4 3
7P 3 @o@ l
6 S|
2 =
N T, P ;)., ™ol s e
2 ‘L_:F—' T oz Lo | STaa03A y
2P g _J“?J {1/4)

Fig. 3-1. Printer Control Circuit

10

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Cutter Control Circuit

Cutter Side Lz
Tam Tra
2502785%2
ré
: < A8
1 25873 hon } oA
' Ye7 4 v 10K
250809 (1) }
- A1g 10K
1.5
A2 R20 22K
22«
- M P yp
\ 3!-r1rg30
A | 4 7k TrB
\ 10 25027852
\ 2 258731 a2g { ‘3'.'._ Y
\ TP 4 g 10«
\ 250809 (1) 26 10K
\ F v
A o~
\ 4 2 2A27
\ gg? L, 27 22K
\ 1 vee
S A0 1K
\ 3 s
l'_o/\/o'_—__— XL e X1 V28T
B 7 S i

Fig. 4-1 Cutter Control Circuit

The cutter control circuit is as shown in Fig. 4-1. In the cutter side, M indicates the motor and S the home switch.
The motor can make forward and reverse rotation by controlling X and Y inputs of the control circuit as shown in
the table below.

Normal | Reversel  Stop Stop
X H L L H
Y L H L H

The timing chart is provided in Fig. 4-2. The rising of S when the motor makes forward rotation is the home
position, where the motor stops. For full cut, the blade returns to the home position with only forward rotation of
the motor after turn-around. For partial cut, on the way of cut after forward rotation of the motor, make reverse
rotation to return the blade. Then stop the blade at the home position by making forward rotation again.

1) Full Cut 2) Partial Cut
1ms ——' ,—— 1ms
X — e X
Y ( Y (
g— | 2__ g— L[ -
l—- 15ms

Fig. 4-2 Timing Chart

11

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Interface with Operation Panel

As shown in Fig. 5-1, the operation panel circuit has the on-line switch and line feed switch. Each switch is
connected to CPU input ports and each LED is connected through the driver to CPU output ports.

Control circuit

Operation Panel Circuit

\Vcc
JL . ]
\r -
LED1 POWER i I
R1 CPU

\
v

LED?2 ON-LINE
=10 — aq———— P04

LED3 ALARM
=3 °<IL P05
l P35

0—-—0

o0——0— -—0

SW1s——z ON-LINE
SW2 FEED | I
————
o ] P36
. O
o A4

/4

Fig. 5-1 Operation Panel Circuit

12

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Paper End Sensor Circuit

Fig. 6-1 shows the paper end sensor circuit. The reflection type photo-interrupter is used as a sensor. When some
paper is still left, the light reflected by paper strikes upon the photo-transistor; thus, the collector of the photo-
transistor is L. When paper becomes short, no light is reflected, causing the collector to go H. As a result, the CPL

input port P40 becomes H, going into the paper end state.

Control Circuit

' V°° CPU
Paper End Sensor %
PHI 1
p R12 3 P40
) 1 R13
I |
I .
| |
| 0 011
I B S
! %I
|
L I

Fig. 6-1 Paper End Sensor Circuit

13

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

7.

Parallel Interface Circuit

This circuit conforms to the standard interface. Description will be made for each signal of interface connector as
follows. Fig. 7-1 shows the data input and print timing chart and Fig. 7-2 the parallel interface circuit diagram.

DATA (D1~D8) : 8-hit parallel signal (Positive logic)

STB : Strobe signal for reading 8-bit data (Negative logic)

RESET : Signal for resetting the printer (Negative logic)

ACK : Data request signal to be output at the end of BUSY signal (Negative logic)

BUSY : Signal for indicating if the printer is in the busy state; it goes into the busy state for H. (Positive
logic)

FAULT : Signal to be output when the printer is in the abnormal state; at this time all control circuits in
the printer stop. (Negative logic)

PE : Signal to be output when the print paper becomes short (Positive logic)

FG : Frame ground

Power Supply —J Data Print Commend Data Data

D

T T b U
oy AL 1 L
e == U U i)

%
LINE I I t Reading of data ends.
Switch Data is being

Printer starts by

ACK si 1 .
is nthna the print command stored into
generated (or data buffer the input buffer.

full).

Fig. 7-1 Data Input and Print Timing Chart

14

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

_E

L
b
i =
4 D
€ f ] LY
[2] 94 !
m 7 64 ! UL -8 i | B&~6L €€
o1als CERY 9'vd T ON9 5 j 98 v v
S N 6 1Az tve[ 11 = LQ 6 8
L (|eAg eve[Ey I ST I [T A it
g 1 S |eAceve[ gy [ = sal. 1iv T i g
J3A € |vAg vve[ L7 ) t vl ey 1 c
m = gy ALV 2 o wm— EQ] , €L 1 |7
£ SLjerenl ¥ [ Tw—2g bl ¢
£ gL JEALEVL g T o N} Gl
dSt€20S wm STlealovi[ g mmmmkm o w00 3 2
1ol 00d ‘9 ovesT €0t ONUWW i
1Nox NIX |09 - 0t 14y viD1 ﬂ ”H T .
—W— koA@U —M— 21l ! | | “om— 1353d 3 €
T 8 6 b — WVN M“F Llowm— 8ISt 1o [ '
_ Wm = 8 — ow— Lvd[ 2 [ ww
- [,s?rL [ g % VAW 7 Lop—  ASNE _ 5 - | o
| —MA— 1L ] = 3 2
| e =W >Mw - ” 81 €
557 | 555 | 90VLETD 5+
b e - J OAEE-CT doaT
oo g2 vy eno N9
9oL

S1d 01Ol

15

Fig. 7-2. Parallel Interface Circuit
Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Serial Interface Circuit

As the serial interface specification, RS-232C and 20 mA current loop can be switched by the slide switch. It can
be switched by the user although fixed by setting at delivery time.

1) RS-232C
By using MAX232C for data receiving (RD), data transmitting and BUSY (DTR), data is transmitted and
received at level of RS-232C. The baud rates of 110 to 9600 bps can be selected by switching the DIP
switch.

2) 20 mA Current Loop
The photo coupler is used for transmitting and receiving. The photo coupler LED is used for receiving data
and the photo transistor for transmitting data.

3) DIP Switch Reading
The baud rate, word length, parity check, parity condition are set by the DTP switch.

4) Positive/Negative Power Supply for RS-232C
+12 V power supply is required for obtaining RS-232C voltage level. In this printer, however, as IC
MAX232C for interface is used, £12 V is generated at the power circuit built in IC. Thus, no other power
supply is required.

The serial interface circuit diagram is shown in Fig. 8-1.

16

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Cl03  vee
222 dhT .o I1C14.JC15 A3 .. R32
CN2 CN3 T3.3 MAX232 10K T 3.3K
) 6 FAWLT ! 14 Gn @ —W— —va——-]
:? 7 PE 12°N13
23 8 RESET 11 Bm 9_> o R3410K
'3 5 C.BUSYR yp1/2PHCIV, Tri2 €2785 12
15 _|c Bugv}* j { e — 3:3 :§,3
' . i FRaz 220 RS6
20 19 |R.BUSY Q’ é 10K
1/2PHCT o 4 Tr13 €2785
02 9 8 2 A1
v vee 101RH| CS
9 csoA £ 9 :‘ * 3 cio
22 +—w— x2 =
2 16| TxD (o] » R39 220 ?gs 0SC1737
swmf@: vee
B AT I g, 1/2PHCL o Rag 1K YES
942"1'00:(3) [ ] * ﬁmi7 13 [ 12 R35 10K 30 31
16 '3 =—rn :—")7;141 100 - C20 5QrP—XOION XOUT
3 14 R AxXD 13 12 PCB37 103 =é 1 ICI
1 GND E 8512 50734SP
7 - 3
! : EG 7'}7 V_(;_C 2;
( )——’] VEC 23104 oo 6
oo 4
N (- E . 7 Ichs 0Ot 7
€25 * gr51C1+va v Ci+lzmt c2i o oO—4—r— 21P10
22u -Bci- v B2} | c1-2F 224 ™ 7]
+ c2+ c2+ *co2 g O g12
c26 ) y|ca7 474 —AW—] %13
224 C2-V-fg=1—g V- C2-[-=~ 22« O O " l og
€24+ rr 0S2  AAS 8~10 I 118
“ 7

Fig. 8-1 Serial Interface Circuit Diagram

17

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

RS422A Interface Circuit

The RS422A interface circuit diagram is shown in Fig. 9-1. As can be seen in the figure, when TXD CONTROL is
L, the line driver IC14 becomes enable, going into the ready-to-receive state. At this time, the line receiver IC15
becomes disable. When TXD CONTROL is H, IC14 becomes disable, while IC15 becomes enable, going into the
ready-to-receive state. Communication is actually made through 2 lines although usually done through 4 lines
(including GND FG). These 2 lines are used for both transmitting and receiving of data.

CN2 CN3

{

1C14 SN75113N( a0 a

g 12 1
]

10

WA~ L§>'

1"

13
IC15 SN7S17SN(SSEse, '0%;

$ R3547K
c20 101
I
R36,, 4.7K| 1
R37 4.7K 2 >

c21, .10
o

c R39 r

R3IBATK 3

47K

£G

7£; R40
47K

AAA
Yy

+— NC

Download from Www.Somanuals.com. All Manuals Search And Download.

3 ’{3{>4 RXE

101RH[C3 (¢

X2 —_
0SC1237 f
E—4m—~

AAA
Wy

R161M

W
(=]

3
XIN XouT

(]
- O

ICI

L

50734SP

oo (& jro—|

lr  DS? RA2 8-10K

Fig. 9-1 RS422A Interface Circuit

18

e fon s
=10

NOUNLWN=T v OUVaWN=-T
. - [=}
[e] (=1



CBM-710/720 Service Manual

10. Power Circuit

This power circuit supplies DC 5 V for the control circuit and DC 24 V for driving the printer mechanism. When
the POWER switch is turned on, the AC voltage is applied to the transformer T after noise is eliminated by the
capacitors C1 to C4 and noise filter NF. For the secondary voltage of transformer, all waveforms are rectified at
both the DC 5 V side and DC 24 V side. IC1 indicates the regulator IC and Tr1 the current boosting transistor
which can generate DC 24 V constantly. The constant voltage can be obtained by the diode connected to the bas
side of Tr3 and Zener diode, while DC 5 V can be obtained by the Darlington-connected transistor Tr2 for current
boost. The diode D5 also serves as temperature compensation.

"
| | 1
| | C3 222
Z{D:‘ Cl1 =} | TC2 I—
104 | | 104 ozcaf 222
AC L 003 0o 0co~ot}er T A
J1 J2 F e J
NF =
PLA30Z21A
L& T N
<% O >
3 IC1 c3 1 R3] 4
D3 D2 MS5231TL S0vIg ¢ 20K
1uF F
8 c4
T AN 2 [ 35V330uF
L R1 330 3 | R4
f b 1; 1.51K
26V I 5 | ¢ :
c1 c2 [ R2
4 16v2200ur 101 560 GND
[ « ¢ — O
D4 D1-D4 3
D6-D9
1 D7 GP15B Tr2 2SD1310ML e
<« » i N o N
7.5V RS 1
D9 D6 820 ¢
Tr3
2SC218SHF| C7
ar D5 21 16V100uF
€3 ¥ 151588
16V c6
s
2 Fl l ] RDS . 6EB2 GND
L L o™~0 1< ! O—>
3A D8 5

Fig. 10-1. Power Supply Circuit

19

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Chapter 3
Auto Cutter

20

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

1. Maintenance and Handling

1)

2)

3)

Precautions for Handling

(1) Precautions for use
Do not cut the paper other than the specified recording paper or do not pull the recording paper on the
way of cutting; otherwise, resulting in damage of the blade section and reduction of service life.

(2) Precautions for storage
Store the unit avoiding dust, dirt, high temperature and high humidity.

Cleaning
(1) Remove the dust of recording paper properly.
A good cleaning can be given by using the vacuum cleaner, etc.

(2) Use alcohol or benzine as a clearing solvent.
Thinner, trichlene, ketone, etc. may damage the plastic parts.

(3) After cleaning, lubricate as needed.

Lubrication

Lubrication is not especially required within 150,000 cuts.

However, the blade operates slow, oil is used up for cleaning, and disassembly, assembly and replacement
are made, lubrication should be required.

Gear pivot Maltenp Brushing
Lock level shaft " "
Crank pin Mo grease "

Movable blade sliding section

21

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

2. Mechanism and Principle of Operation

1) Outline of Mechanism
The AC-2 and AC-3 are designed as the DP-505 and DP-600 small dot printers and characterized by compa
and lightweight types. The mechanism of this unit consists of 4 blocks; frame, power transmission
mechanism, detector, and movable blade mechanism.
2) Mechanism and Principle of Operation
2)-1 Power transmission mechanism

Cutter Gear

Worm

NI —

Fig. 1

The reduction gear train of this auto cutter is composed of the motor gear mounted onto the motor shaft,
worn, and two cutter gears. One rotation of the motor gear rotates the cutter gear by=7/B628)(
(See. Fig. 1.)

2)-2  Detector
The detector is composed of the mechanism contract switch and cutter gear cam.
This detector detects the home position of the movable blade for partial cut (see Fig. 2), turn-around
position (see Fig. 3) and returned blade. It is turned on when the blade is at the home position and turnec
off when the blade returns. The position where the detector is turned off from on after starting of the
movable blade is the turn-around position for partial cut.

22

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Cam

Switch

Cutter Gear

Fig. 2 Fig. 3

2)-3 Movable blade mechanism
The movable blade is changed into a linear motion by the crank pins and starts cutting the recording
paper.
(1) Full cut

Blade

At full cut, the crank pins turn one time and return to the home position. The movable blade moves 12
mm.
(2) Partial cut

[\A/\/\/\/\zl
VOV

! v
1"@0\\
N N
Fig. 5

At partial cut, the crank pins go into reverse at the moment they receive the switch signal and return to
the home position. The movable blade moves 9 mm.

23

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Repairing (Troubleshooting)

For troubleshooting, the repairing method will be explained by classifying the items as shown below.
Make sure of the cause according to the items and find out the trouble portions for repairing.

(1) Phenomenon ----------------- Find out the phenomenon of trouble from this column.

(2) Condition Even in the same faulty phenomenon, the trouble condition may be different.
Check it, comparing with the content of this column.

(3) Cause The causes are listed on the basis of the trouble condition. Find out which cause is
applied.

(4) Check Point and Method --- The check method to find out the cause if described.

(5) Troubleshooting ------------- Repair the faulty portions according to the method described in this column.

24

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

CIERS N RE]

ape|q a|geAow

|lIoM

()]

uiom Jo pabewrep Ji ape|q ay) ade|day e 0] 8pe|q 8|qeAoWw a8y} unowsiq « | 8yl Jo uoiseige 1o abeweq ‘T [N 10U SBOP ape|q By L .
"1snp Jaded uonoas
alj) 29y 01 JaA0D JanNd ay) yoelaq « | Bulpls apelq ays jo abeuoys  urewsas aiow Jo suoniod
aleolqgn| pue 1snp Jaded ay) areuiwi|g e '019 ‘Buidiem |10 1o saisem Jaded Jo Buibbo|D ‘g inoun Inoy ‘1no [erued U|
"pPawWIoap JI 1BA0D 3y} 92e|day « S Y08Yd 01 JAA0D JaNNd Yyl yoelad «JdA0I J81NJ 8y} Jo uonewojaq ‘T [ewou Ss1Ind N4 «
Jaded Buipiooal jo abessed ay)
‘'sianew ubialo) ayl areulwl|y . ‘abessed Jaded ayl yoayd ojul sienew ubialo) Jo aduenuy ‘g
‘(ss9| 1o ww T°0) "1aded ay) 12 0} "1N2 3q
"1aded Buipiodal sidwane 1 ybnoy Aem | 1ouued Jaded
1aded Buipiodal pauoads ayl asn 3yl JO SsauxdIyl 8yl ainsea|N « haded Buipiodal areudosddeu) “Tayl Uo suinlal ape(q 8yl « puipiodal ayl ‘g
"paJalua SI pueWWOoI
uonelol 8y} usym
‘punoy '019 ‘191S3] sdois pue Ajueiodwal
SI Aljewlouge ue Il youms ay) aoe|day e B Yum 1ndino youms ayl 3oay) e alnie) youms bunosleq T sojelado Jojow 8y e
"UONJ8S B|geAOW UDII8S UOoIe10J 8y} Olul Sia)ew
‘sianew ubialo) 8yl areulwig &Yl %98Yd 03 J8A0D J181INd 3yl yoeaq «Uf1alo} Jo adueiud 01 anp %207 '€
"sajel Jojow ayl
1159842 pue Jojow 8y} JO S[euiwa)l
"91e]01 10U JI JoJ0W ay) ade|day « (10q oy 01 abeyjon parel ayl Alddy . aln|re} JIO10N ¢
"019 ‘191591
3y} Yyum Jojow ay} Jo sjeulwal ‘paJslus S| puewWwod ‘arelol
unaao Ajlddns Jjeamod  4iog ayr 308y “paysiuiny st Alddns Jojow 1oy A|[ddns upielol ay) JI uSAS 31el0l 10U saop
U1 1081109 ‘Buires Jo Ino S| abe)joA Byl )| o Jamod 1ndui syl 1eyr ains axe e Jamod indur ur Ajrewouqy T 10U S90p JOJOW 3Y] e lojow ayl ‘T

Bunooyss|gnoiL

POYIBINl PUE JUIOd %994

asne)d

uonIPUOD

uouswouayd

25

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

4.  Disassembly/Assembly

1) Disassembling Procedure
Perform the disassembly in a reverse manner of the assembling procedure.

2) Assembling Procedure
Perform the assembly according to the assembling procedure as shown in the separate table. Numbers in

Exploded View at the end of this chapter are used as drawing numbers.

26

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Assembl- Draw-
1ng Name of Assembly Parts ling Assembling and Notes
Proce- No :
dure .
1 Cutter Frame Assy
2 Paper Guide

3 M2.6 x 8 x 2

4 * | Lock Lever R Assy

5% |E3

Lubricate the %ock lever
. ——shaft (Maltenp

6 * |Lock Lever L Assy

— Hook the lock lever side

OO oo U O D W N -

7% |E 3 of the lock lever SP first.
h
8 *# |Lock Lever SP x 2
‘Lubricate the gear shaft
9 Cutter Gear Assy X 2 i (Maltenp)
*Align the crank pin and
10 E 2.5 x 9 gear shaft,
\
11 Motor Assy 10 "":\'-\Crank Pin
12 Worm Assy 11— —_ %abgicatﬁ the worm shaft
altenp
13 M2.6 x 5 x 2 12—
14 M2 x 8 (SW) x 2 13 Lubricate the tggtgrggsgﬁars
15 Bind Wire 14—
X
16 Cutter SP X 2 15
A
17 Guide Plate 16 \ 1 Lubricate the movable blade
sliding section and _crank
18 Movable Blade |7 | pin (Mo grease)
A
A Mount the cutter cover,
19 Cutter Cover Assy ) ’EB - making sure that the guide

late and movable blade are
20 M2.6 x 8 X 2 3 gorrectly inserted into the
guide shaft and crank pin.

21 E3 x 2 6—"

The parts marked with * are not
required for AC-3.

27

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

Chapter 4

Circuit Diagram

28

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

4 8a  \¢
«—0O _ |
e caa9 T mso,?ﬁ 4 Z
Ky N00€E
A9T
885TST mu
dnooTA9T - ,,  Sd - N
LD | dHS81ZOSZ
€I
$ 028 9d 6a
NOTETASZ 2L gs1d49  La 1
60-90
£ ba-10  ba
¢ O b 353
aNo 095 \TS ANQ0ZZAEY 5
P cd 2D c 19
1 A9
ATS°T ._‘ - s
vd 0€E T™
INOEEASE Tz z 5 A~
) )
3 Jnt
%0z § oz A0S LLTEZSH za ca
4 £y €2 101 c
O . < jt 7
Ared L6852 TIL 1 TN
Y1Z0Ev1d
= AN
—-—= 4 20 10
O~ .H. 1 OO O~ Y
¢ee vUJﬁ v0T “ “ pOT
(40 oy 10
222 € m_u “ :|
O e o

Fig. 4-1. Power Supply Circuit Diagram CBM710/720-001-00

29
Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

1
D == : 00 : _I. =D
l =N l C3 222
AC IN cat | a | C2 } AC OUT
104 | | ed | | 104 ==ca
- T222
[, =-0--0~0—0--0—0—0 ' T l ! = I,
J1 g2 r L _] ]

Fig. 4-2. Noise Filter Circuit Diagram CBM710/720-002-00

L—(z J———> 2
vCC

POWER LED 1 R1 220
LED 2
»———@——w———(}—% 7
LED 3
ALARM @ R 3 470 6 o ¢
SW 1
ON LINE 5
0 O O > 5
SW 2
FEED 575 4{) 4

Fig. 4-3. Operation Panel circuit Diagram CBM710/720-003-00

30

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

1
(1< —O- 2 4
o e
I I
| |
Jer Y I T
B2 < 20— 1 3
PH1
GP2S05
3
3 < O-

Fig. 4-4. Paper End Sensor Circuit Diagram CBM710/720-004-00

Cord Assy CA5

(CN6B) 1 ——!
(1 - ! LI
|
2 - ZT——2
3 3
3 - I o
4 4 6
4 =
hd i
. 5 | 5
.. 6 6
7 7
7 -
\ Q  /

PC Board PC710-06

Fig. 4-5. OP Junction Circuit Diagram CBM 710/720-005-00

31

Download from Www.Somanuals.com. All Manuals Search And Download.



4-6. Circuit Diagram: Parallel

(PE)
CBM?710/720-006-00 ) =
B B 1G5 rRss | LA 3 5 |C2 27128 IC 20 Vee
CN2 CN3 RA5 - 5 12 13_“/,____1. Tz e Jéo AOCE | 1 Ve “PD44641C0: S1 a1 §
—————— — T ————
16P o 12-33kQ Ve Vee 3 63K 1 > — 9 110
i [ty 25 c1a7a06 T | e sscars (DTTS T : [ =
' 4 PE ! ~ 1 | lOth R14 :E frd C11 3 3 . 77 3 TC19
1 —W— " ; c9 ol 33K Y T 103 =14 —— 6] mr 104
10 2 T =, Sogil v R T m mm It 75 Dol 518 pot
” 5| _IBUSY t— | %}}3 —— 60415 A bad 1/215139 31 13 — Tt
. 2] _ TFAULT FW— —J 8<@>9 —r— [ —2 {0 Yop4—] 2511 2[5 Sl7 215
1 7 STB Mo 1PN 2 V1 o N8 Y B a 2419 Z 5 328 2_&3___
al 3| _IRESETIW— [ 17 1310 oW 30 Va7 sHio sl 21l 5P
| =caox= ICl4 111710 60j XIN XOuT 18 H1L 32, 2310 e[e
| TC0TCl0s (5240 [61]700 | i1z 7 Bk
2 6 00  +ww— (TTAT17%222 18 [fAsiva)12 [1%2]5 o —13CE Neewes
g 5 01 e 6 J1A31v3[16 [1i63ls 50734SP LS373 CEWS2
3 T I | 41102 1¥2[16 Ha ADO 28 2l1p1gL2 22 27127] |26
5 3 03 | ) 2 J1A11v1[18 5 g Y- 8i8p 8Q
2 > 04 ey 7 12A4 2va[3 Vee 6 Pt ‘71 2D 20
7 1 05 | | 5 }2A3 2v3(5 4 sR2 70 708
) 0 06 —— ) 3 _j2A22v2|7 NG T 7 4 %r i 3D 3Q 2
8 S 07 Twe—— = 1J2v12v1{9 | 5ip10 5152 220 4618
14, 16, 30 5| LIGND  Ra.6 026 =841 651 13 2p 50/ —
33,19-29 re L ] 8-1KQ 1}_!19 12 7 E O
17 L =7 m 913 ALEF brzd
m T 4 48 11 f4e 1
1014 e
Vee RA2 1 + o 11 pS 9
T TAL vee L1127 10
HA13408 9-10KQ T~ | 11
[=lsoL 1 1 W 3 poo 12555
1 SoL 2 3]01 It porrrsm ] 13
= 13 SOL 3 712 29 ] 541 = I
Q cNa 3 SOL 4 313 3fio ] 6] 2 15
c 3 SOL & 14 42 prrr 11173
= i SOL 6 5 g g 4 N Bé
SoL 7 7 6 pT -
o 1P HiZTsos 2] 7 T[s e 8’9
3 SOL 9 2318 8130 P 21
9 9 P30
P 1513l ICaLS04 22|
1,8,9,10 |met—vT . 23 ]
- 19,TAB ¢ 77 22 0, Vee %2 4
15 | —— TA2STA03A 4.1KO RA3 2
MOTOR 3 L 2 1 —W—19-10KQ 26] 4 28
2 0111 - 8 —7 27|15 =5
CCsoL sl L4 4J\8k3 — H6 RD[39
v 7 59 1
L_l LESOL T3 ae—th— =<epr—— o0 __Wohs I Vee Trl 2SA1175
vee N2 a7 RESET :
| = RITA00 T IC11 741514f ~ -
5| = W RA3} T 13 :
o 3 Pret ; Ti0L | 2L 95 ; %Rg RS
o SPRR C2785 | 1 _@o, 12} E 2P~ : T 10K I 100
2 CNs 4 5= (22 2PTs | L
E 5 - 10 —'c; 0.047F
a 9P 6 o @: Ic7
1 8N9 1/2LS139
7 T
i
T 5 |
1 e——
c 9 4; l12 11 j1o
c L 6[ELE2), 91Q 20117
o 1Q1D 2AY 2AY
CNS 5 + 13} 5 4pH2 181701 1AL :
& 2 | <1 €16 471 ——i —— W 1 %zozD; 12 V4 2Ad }17 W
i C17 471 +————H—34°Q3 111s .
0 Q3D , 1v2 1A2l3——
8‘ [ S ’ | ¢l 23 2A3 LW o2
: 6 \45 1Y3 1A3
2 (5 f L—ov2 2apfi3=W
5 CN7 PR i L Py B AhRA4 1K IC5 1231v4 104
S 1= Z£cuw2 L st ! LS375 s
op T 473 (1/4)
= VP VPVP LS240
; rR24I LT R
10K § 4.7K 4
2SC2785x 2
— Tr6 R18
L= 2SB731 Ro2 318
o N a7k 10K Vee VP
2SD809(1) o [ 1 - ; 5
wy +
R19 10K C4 35V 47p IZ E
T;?zlss R20 22K 2 vee © 2 3.4 CN1 =
v
mr 22K ' ‘ B S s s Sk ; 1 o
g o e 2E NN *
= R3LEE R 5g ™ c2 2
S 4P 147K 2scarss x 2 77 16V 1004
O Tr10 R25
2SB731 R29 M
2 il 47K 10K
2SD809(1) R26 10K
]
i 4 T9 2 2R27 22K
R28
Vce mr 22K
R101 1K

3 i = c18 11 @ Ty

1 i
] ! r',,103

— ond

32

Download from Www.Somanuals.com. All Manuals Search And Download.



4-7. Circuit Diagram: RS232C C103 | Vee
233 Ahiras IC14 JC15 R33 . R32

CBM710/720-007-00 R gy

12 : 1{0@11 :
EREI N E 12‘@‘\‘13 . )
23 | 18 TRESET[] 11 _1N1090%_ 8 RBIIOK —wer (PE)
13|15l 1cBUSYRy, 21PHCI Bz @c Tr12 C2785 12 vee 231 CN9
Y i 4 R15 Y ,
14| 2118 IC.BUSYR ! :1 r SR r—{:}ﬁ 13 3.3K pLaal, IC2 27128 IC : Vee
irol iR - a R3é“£2'z R56 [ 2 4 Lve 10— vee LPDA464C =2
i .BUSY r— 10K — . '3 — CE 51
T | ] 12PHCl 10 4 Tr13 C2785 3 | G : cn A o v no - 3
] T = o 25C2753 i rAE 815 5L \ol28
9pjo9t ICSORE lo :l x 3 Ve o2 it 101RH1 C9 T IRiag 4 c11 %13 ! 752 V0 =cCi19i
1o 1TxD O T e Ras x2 —  Cl0— | {33k~ 103 i =4 iy 50 104 |
2= 14 0 pr 10K J0Sc1737 | o & e ICT | 715 D05 . — 5% ol T
! | lCSWJ.-l J vee ’_‘10|_' 1/2L.5139 : 516 1175 Il 7 52 1t 2 '
1g |12l PR, g _2/PHCI o R4o 1k YCC T —={A0 Yoor— (| 257 2T 2k 3t o |
© | [R42 1004 | 1 CL 61 FIALY1Pe= ||| 24 Pis 25 i
MR M E T erpr e S M s N =, s, s |
. 7 IC.RDR —_ C20 604 XIN . L | i 10 5 T [ ! 1} P
|14 IRRXD 13 10  7TRCE3 7103 Spoo X7 wief| | 21 sims il =10 ofas
11l iGNC r-ﬁ% IC IC4 !} ! 26 i§—7|—' ! i1 l i (210 7_E
7 |- T 613 3 50734SP LS373 | i TLSCE] ! H 1 SCEWS?
1 kg m vee T4 ADO B8 315 o2 i 22 it]jtjli vv u
VEC C2310u —O*P"“"'—I [ 15 1 g TBiap pooRg . e 27| f2ri26l
- : pres Y wa— 6 2 i 4:2D 20 IR T T vl
1A LT - 4l S 7o 70f8 EBSSNEE: Lo
€25 + mci+ et 20N, "ol L voa1 t:'é—’—% I — ig i 14130 Sop2 e i e
cosp—=3jc1-, v =_2! _I13Z_ 1 —AW——b P10 1 T3l 9 T R .
1 V4 =24+ Cl—-=== szur___n; 18 1 6 - 13‘;4D 4Q 3 1 ] Tt .. X '
C26 +57iC2+ ""|Ca7 a7n}. C2t{ym+Ca2 :?-?n:m_-' 11t Ay, 7 i T 10 29 : ' i P
22p -~ vty G S o L1 : 3 11 [ EE R i :
5 —6"= 6 5 — W i : lc i ALE 49 | 11— E .
< | i 4 ] ! :
Gol = Vee . M DS2  RA58-10 NENSEEEE A8 2 REEN : i
— i2 HA Vee : :.129 10148 1 T . - i
14 oL Lo JeHALSA08 ] 1HHE e U ; :’
— 6 5 =2 2 ——— T ial P20 12173 ; T T . I
) 13 s 15 38 W i L 1317 : ; il
CN oL 4 2, 0 p—T— A2 1 : ' =
+— 4 oL & T4 4[5 T 6 2 15 4 : 3 : o
£ 12 oL 6 515 5 == 73 ; i
= 17P 4 |2saz 716 6 — 85 | :
o 1 SOl 8 237 7 9 . i
L : T 6 : i
3 SOl 9 2318 8 [ e 20 7 : i .
3 VP 19 9 21 [l H HE]
VP 15 134 IC8LS04 RA2 9-10KQ P30 1T : -
1,8,9,10 |=+—" 185 22| ] : i = n
i 19,TABI ¢ gy 22 Vee 233 ; : )
15 | =-—— TA2STA403A RA4 , TRA3 Liladis ]
) MOTORY 3 M1 1 2_daka 2<}:l —W— 9-10KQ 24 N
ccsoL s ole 4@}:3 P 21t A 128 l : o
v T 28 =139 * .
LFSOL [ B RN N7 .| =7 WR t25 !
LJ Vee ; = WD {7
o= IC11 741514 [~ == — — = 3a) P40 2 L
1 = R17100: : Mee T35 L RESET 7 [ Vee il 2SA1175
P THCT cores  RA3Y T Ll 36 2 : : :
o = - - l - ™ T : : I
3 2, . | S——
= } Ci12] ] l i 15
= CN5 4 =r—tie= $ >, ; 3% t ' 12]F Jpp
= R I 3.3K" ! : r42Y0 5ap )
~ 5 PoTT T Tr102 LA . 8 16
o op 6 | =l E\h G2 _"“5‘{98‘— — T 10 | 10 Ic7
, i 02 ¥ RI03 ’_«»_ 8 e L 1/2L.S139
— , T Lo - EC‘rI "@ﬁ
g g | = C14L 103 L |12 11 AP
9 L= = 103 L. @c
1027 3 C2785 -
0‘? 1= e — . Nec9V78 4]{12 ll l19
CN6 ~———C15_ LRI04 77 Eul E1 E2
5 - i ALY v 3 1 9{1Q 2Q11; —w— 1
@ 4 C16 471 - — - 13 181118 5 RV == —3 05
i b 2 8 ~ 2]
S 7P 6 C17 471 7———{}-——43@}3 " 2120 2045 ; Tolova aae LT o~o-34
7 H . —13Q3D 172 12 (RO \O‘_Tl
@) ;1S _— %@5 : -5 213 23 1o ?,\o_g_. HPC393 |
- Y Wy
o CN7 Y- 7o foa 1aL8 RA4 1K | " Tl B =T o4
S 1|=l— "=ci02 L__ STA403A 4 Ic6 l2hivs 1ag (B W SN 8 ) & b1
c 2P : 473 (1/4) X LS375 RA1 DS1 i RD3.0EL1
= VP VPVP IC5 8-10K 2° mr T
; | Raax ¥ ro LS240
e -] 47K 2scaresx 2
L 2SB731 R18
I 7 10K
Vcce
1 2SD8 A2y 1
! 09(1) re ' vP
i I §R19 10K @ %‘? - 7 5
' P P —
- - A 2 Ccamvan F |
o CN8 | i 22K rTsT Vee L1 4
) )
= | ST az |
-] 4P : Tr 4 = = 2 ]%1 -
O l o 25C2785 x 2 . I c2 2
2 t____.- 25B731 R325 7T 16v 1004
i Tril 10K
g i 2SD809(1) R26 10K
i i % R27 22K
| H
vee mr 22K
R101
' 1K
3 + R
4 | = Fcis 117710
mr  7r103

Download from Www.Somanuals.com. All Manuals Search And Download.



4-8. Circuit Diagram: RS422A
CBM710/720-008-00

Printer

Winder Ope. Panel

Cutter

CN5
9P

CN5
7P

CN7
2P

CN8
4P

CN2 CN3 15|C14 SNTSLLSN (¥os18
5 [=1A[JRo._Ra2, 10 L 12@:13
w—I—
0
L 3| |Isp| R33, 10 14 60@ 2 (PE)
TN o~ Ju Vee 231 CN9_ gp
vV
T & 1) ), C2 27128 |c_j£ g
R35 4.7K g vee 10 o, Yee HPDA464C —=
IC15 SN75175N (¥53%%) 10 e e———— o {A0E |1 10].5 i
s R12 81, 27 | g Y vol28
2 I':\ = > 1°1Rm 'LC“ 160 Z 3 7 =C19
o5 X2~ c10 I103 =4 1 N )1 . y 104
e [oscizar T m omrrIC a° ———315 D05
m 6 1 ) 1
A4 , U2LS139 o L — 5
AN —={A0 Yop&— Ble  3fi5 r———?7 2HE
L | R161M HAL Vb 2230 416 5 3
NC 30 31 ig&? 21010 sl pin b
NC 60| XIN XOUT 18 Bl sflE 23719 R
R40 1]P00 : =12 7[L9 B o
megil _ 1CI Ic4 26115 Hiz 7K
v . g 50734SP LS373 CE i CEWS2
cc 5 15 1ol 2 22
b 4 58 1D 1 271 127126
—Ww—i 5 ADOIE T ToleD sofd L
r 6 pyietd 412D 2Q
[ 4 5 T7)7p 73
z 3[5 7 6
Y 7 a1 3D 3Q
L 5 53 1416D 6Q D
=1 P10 5162 814D 4Q[ 9l
3 241 6[51 13l5p 50
1 & % 7 E O
49 o
RA2 8-10K 74 AR5 (48
Vee. DS2 - l juik A3l
T, TAL Vee 12,7 10(48 :
= HA13408 T 11
S 1 4
14 2 o1 11 — 21 P20 12444
6 | =13 2 23 e 4 13} J
13 s 713 3fo "*‘!_% 212 1445
7| =13 4 4f = g5 15
12 S 515 5 v Ha
4 S 718 SRk A 91 2
1 S P A it ey 551 6
g S 38 8 e 557
VP 1513 IC8LS04  RA29-10KQ 27
7 ! 3 1
101 = 19, TAB $ n|7 22 vee 23 2 T
15| -— TA2STA403A RA4 N =T Rra3 2 3 .
MOTORV 3 2 4 2 —W—1 9-10KQ 26
2 0111 : 5 2545 —_|sg
CCSOL 5 4 b 4 3—Wr 5516 RD=5
LFSOL 712 ?[s N & 7 WR |25
3 3 My 6 5 [_*?""' 133 pao WD |55
L Vee NS 34,4 RESET Vec  Trl 2SA1175
 R17100 T IC11 741514 [~ e - :
1 M Vee 36, 5 9 '
ford Tr101 — 15 13 12 |
3 o C2785 12 Fanhl3 o—= R10 Ro RS
4 102 == R102, 4 in m r42Y0 55516 c s Vee 62K ¥ 10K
5 ‘ Ls11 \
2=\ — 9 4 ! =c7 0.047F
6 ! q c8 12
| 11 8 9 IC7 T Gl R11 "}
471 ! 10K Vce
1/2LS139 m l
7 vee | Clol— i . .
8 At T Ve T2 mr R3 1.5K(F)
9 4| |12 P 7 R6 R5 25C2782 T qk :
1 )19 Vee i
1 | 4 [ELE2 N loe . ) |
: 33 , 541010k L 2v1 om0 1 . T =38
f 4Q4D W T :
e S s T ey s s [T
6 C17 471 0 AL4303D ! 1v2 o= o4 IC12 2Ky
I I 15 s 5 UPC393 . T
7 171 2Y3 2A3 Q02
2 L= 6 5 U = 1Y3 1A3 0 > '
5 SEnrom 98 JRA4IK IC6 (2] 14 aafo oM 3078 & soeLs
1 t L Cc102 L) STA403A i LS375 RAL DS1 ,.}., ’
473 (1/4) b IC5 8-10K op
VP VPP LS240 m
R24 £ LR23 T
10kF T i
e 147 2scarssx2
4
1 ] 2SB731 R22 B
P e 10K Voo R
2SD809(1) T L vP
R19 10K Y, — - 5
5 EE R20 22K C4 35V 47u z
R21 tee |34
22K gt Vee v L1 .
VP VPVP ST
ra1 L Trap S= = 4
10KT F4.7K 8 f.SL_..__.L_fnx.JQA_L.. 2
% 2scorss x 2 c2
o o las 16V 100
2SB731
2
Tr11
2SD809(1)
Vce
R101 1K
3 o TIL7°10
2 |- cis
Tk Fo

Download from Www.Somanuals.com. All Manuals Search And Download.

uny

o
Power



CBM-710/720 Service Manual

Chapter 5
Parts List

35

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
1. Exploded View CBM-710/720
Ref. No. Parts No. Description Qty Remarks
1 E 4002-230 Chassis Sub Assy 1
2 E 4002-240 Cover for PCB 1
3 E 4035-620 Grounding Plate 1
4 E 6601-210 Supporter for Printer 2
5 E 4000-520 PE Detector unit
6 E 4018-140 Spacer for PCB 1
7 E 4000-530 Operation Panel Junction Unit
8-1 E 4004-180 Inlet NC-174-C 1
12 E 4000-510 Noise Filter Unit 120V 1) 115v
E 4000-500 Noise Filter Unit 230V EMI Class A 1) 220-240V
E 4000-515 Noise Filter Unit 230V EMI Class B 1) 220-240V
11 E 4023-040 NF PCB Holder 1
13 E 4001-740 Power Transformer 25-0091 1 115V
only
E 4001-745 Power Transformer 25-0092 1 220-240V
only
14 E 4018-160 Supporter for PCB 2
15 E 4000-490 Power Supply Unit
16 E Control Board Unit
17 E 4024-040 Connector Cover 1 AW only
18-1 E 4800-975 Cord Assy CA1l 1
-2 E 4800-980 Cord Assy CA2 1
E 4800-985 Cord Assy CA3 1 Validation
19 E 6601-220 Printer Stand 2
20-1 E 6600-780 Printer DP610-DFC
E 6600-790 Printer DP612-DFC
E 6600-800 Printer DP617-DFC
E 6600-810 Printer DP614-DFC
-2 E 8000-010 Auto Cutter AC-2 1 CBM720
only
E 8000- Auto Cutter AC-2F
21 E 6202-800 Bottom Plate 1
22 E 6302-190 Rubber Foot 4
23 E 62010160 Top Case 1
24 E 5200-070 OP. Panel Overlay 1S 1

Download from Www.Somanuals.com. All Manuals Search And Download.

36



CBM-710/720 Service Manual

PARTS LIST CBM-710/720
Ref. No. Parts No. Description Qty Remarks
25 E 4000-530 Operation Panel Unit
26-1 E 6204-590 Printer Cover 1
CBM710
only
-2 E 6204-600 Printer Cover (AC) 1 CBM720
only
27-1 E 6204-700 Paper Cover 1 CBM710
only
-2 E 6204-710 Paper Cover (AC) 1 CBM720
only
-3 E 6204-720 Paper Cover (V) 1 Validation
30 S3X6-S Pan Head Screw M3 x 6 6
31 S3X10-S Pan Head Screw M3 x 10 2
32 SW3X6 Pan Head Screw/W M3 x 6 3
33 SBST3X8 Tapping Screw M3 x 8 4
34 S3X6 Pan Head Screw M3 x 6 15
35 S3X10 Pan Head Screw M3 x 10 4
37 SW3X14 Pan Head Screw/W M3 x 14 2
38 SWT4X6 Pan Head Screw/TW M4 x 6 5
40 E 6100-530 AC Cord 1) 115v
only
E 6200-535 AC Cord 1) 220-240V
only

Download from Www.Somanuals.com. All Manuals Search And Download.

37



CBM-710/720 Service Manual

BM-710,720

C




ice Manu.

CBM-710/720 Serv

CBM-710

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

40

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
2. Block Diagram CBM-710/720
Ref. No. Parts No. Description Qty Remarks
E 6100-530 AC cord 25-0102 1 115V
only
E 6100-535 AC cord 25-0103 1 220-240V
only
E 4004-180 Inlet NC-174C 1
E 4001-740 Power Transformer 25-0091 1 115V
only
E 4001-745 Power Transformer 25-0093 1 220-240V
only
CA 1 E 4800-975 Cord Assy CA1l 1
2 E 4800-980 Cord Assy CA2 1
3 E 4800-985 Cord Assy CA3 1
4 E 4800-990 Cord Assy CA4 1 CBM720
only
5 E 4800-960 Cord Assy CAS5 1
7 E 48000010 Cord Assy CA7 1
8 E 4800-970 Cord Assy CAS8 1
41

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

(¥N3) €600-52
{(¥sn) 1600~
*sue1], Jamod

f
._u.ﬂ_mo A1ddns aamog

= =004G

3TUN 10309330 *d°d

I
h 3TUN I93TT ISTON

= 381Ul

d1

(YD ASSY pao)

I0709UUOD) ISPUTM
i)

i

10309UU0) @2PJISIUT

(4n3) £0T0-52
(¥S0) 20T0-52
pI0D IV
8YD ASSYy pIo) —ed
(Atuo 0z¢)
1 193300 oIny
geND|  dsro] [ETO
6ND|  [8ND ™D y¥O Asse pioDd
2
212 =
00 Assy prop = FO3UTA
(¥ZZ¥Sd) £00d-909-WED slg 2
(121 1218d) Z0Od-909-WaD &1 & o
(J2€2S4) 102d~909-WaD A
3TUN PIROg [OIJUOD W om, 2o Assy pao)
[ws]
GYD ASSyYy paod
e
4 Sle] 3TUn TBURd
50 Assy pIoD » uoT3eISdo
3TUN UOTIOUML *d°O

BLOCK DIAGRAM

42

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
4. Power Supply Unit CBM-710/720
Ref. No. Parts No. Description Qty Remarks
IC 1 E 390-110 Regulator M5231TL 1
TR 1 E 324-010 Transistor 2SB974L 1
2 E 360-040 Transistor 25D1310M1 1
3 E 359-278 Transistor 2SC2785HF 1
D 14 E 400-130 Diode GP-15B 8
6-9
5 E 400-010 Diode 151588 1
ZD E 405-130 Zener Diode RD5. 6EB2 1
R 1 E 3331-041 Resistor 1/4W 330 J 1
2 E 3561-041 Resistor 1/4W 560 J 1
3 E 3203-100 Resistor 1/4W 20K F 1
4 E 3152-110 Resistor 1/4W 1.54K F 1
5 E 3821-041 Resistor 1/4W 820 J 1
C 1 E 2022-740 El. Capacitor 63PN-G2200A (25X3( 1
2 E 2110-170 C. Capacitor DD804B101K50 1
3 E 2001-650 El. Capacitor 50MR-1 1
4 E 2033-750 El. Capacitor 35MR-330 1
5 E 2033-740 El. Capacitor 16MR-3300 1
6 E 2010-020 El. Capacitor 16MR-10 1
7 E 2010-010 El. Capacitor 16MR-100 1
CN 13 E 4800-965 Connector 5273-04A 1
E 4800-970 Cord Assy CA8 1
E 4010-300 Heat Sink 25-0061 1
E 4019-100 Insulation Sheet 2067A-5051 2 TR 1,2
F 1 E 4005-465 Fuse 5MF-3A 1
E 4006-220 Fuse Holder UF-0033#01 2
S3x8-S Pan Head Screw M3 x 8 2 TR 1,2
S 3x6-S Pan Head Screw M3 x 6 2

43

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

‘}SUZLQTOR\ Screw M3x8/2
HEAT SINK 258 @

El Cl Bl L—
Screw M3x6/2
TRI .
4

[ -
A [ 1
@ Ry R1 2L {L JPI
o b
D

Slicr 7
& 5 1
R4 |9 2
: C2 & paT D3
g™ F250V34 ® Lo
9% F
<
D
L
2
[ED& -
J) (l) ,A 3# 2)
PC 710-074 UFO033°0112s
D1-D4,D6-D9 :GP15B PC BOARD
D5 :1S1588 PC710-07A

ZD1: RD5. 6EB2

PARTS POSITION : POWER SUPPLY UNIT

44

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
4. Noise Filter Unit CBM-710/720
Ref. No. Parts No. Description Qty Remarks
SW 1 E 4003-495 Power Switch SF-W101A-01BB 1
F 1 E 4005-470 Fuse EAWK-500mA 1 220-240V
only
E 4005-475 Fuse 5MF-1A 1 100, 115V
only
E 4006-220 Fuse Holder UF-0033#01 2
NF E 4009-270 Noise Filter PLA3021A 1
C 1,2 E 2310-010 Film Capacitor CFX22E104M 2
3.4 E 2122-735 C. Capacitor DE7100F222MVA1-KC 2 100, 115V
only
3.4 E 2122-725 C. Capacitor DE1410E222MACT4-KD 2 220-240V
only
45

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

FUSE HOLDER

FUSE
EAWK-500mA : 220-240V
SMF-1A

: 100/115V \

N
SW1

Noise

T

POWER SWITCH
(MOUNTED ON BACK)

T

PC BOARD
PC710-08

) 7 C. CAPACITOR

1 © OO
L L

MQ.. a

218 18
o o~
46

PARTS POSITION : NOISE FILTER UNIT

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
5. Control Board Assy : RS232C CBM-710/720
Ref. No. Parts No. Description Qty Remarks
IC 1 E 104-200 LSI (CPU) M50734SP 1
2 E 107-130 LSl (PROM) M5L27128K 1
3 E 104-220 LSl (RAM) uPD4464C-15L 1
4 E 2010170 IC (TTL) SN74LS373N 1
5 E 2010220 IC (TTL) SN74LS240N 1
6 E 2010230 IC (TTL) SN74LS375N 1
7 E 2010240 IC (TTL) SN74LS139N 1
8, 13 E 2010250 IC (TTL) SN74LS04N 1
9 E 2010260 IC (TTL) SN741S11N 1
10 E 2010200 IC (TTL) SN7406N 1
11 E 2010270 IC (TTL) SN74LS14N 1
12 E 202-610 IC uPC393C 1
14, 15 E 2010040 IC (CMOS) MAX232CPE 2
TA 1 E 390-100 Tr. Array HA13408 1
2 E 390-120 Tr. Array STA403A 1
TR 1 E 319-117 Transistor 2SA1175HF 1
2-5 E 359-278 Transistor 2SC2785HF 11
8,9
12,13
101-103
6,10 E 327-030 Transistor 2SB731L 2
7,11 E 360-020 Transistor 2SD809(1)L 2
ZD 1 E 403-060 Zener Diode RD3. OEL1 1
D 1-3 E 400-010 Diode 1S1588 3
PHC 1 E 391-080 Photocupprer  PC837 1
RA 15 E 3103-140 Re. Array SR-8RA-10K 2
2,3 E 3103-170 Re. Array SR-9RA-10K 2
4 E 3013-090 Re. Array SR-4RB-1K 1
47

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
CONTROL BOARD ASSY : RS232C CBM-710/720
Ref. No. Parts No. Description Qty Remarks

R 1 E 3152-100 Resistor 1/4W 15K F 1

2 E 3272-090 Resistor 1/4W 2.7K F 1

3,40,101 E 3102-041 Resistor 1/4W 1K J 3

4 E 3222-041 Resistor 1/4W 22K J 1

5,7,15 E 3332-041 Resistor 1/4W 3.3K J 8
32,43
102-104

6 E 3473-041 Resistor 1/4W 47K J 1

8,17,41 E 3101-041 Resistor 1/4W 100 J 4
42

9,11,18 E 3103-041 Resistor 1/4W 10K J 13
19,24-26
31,33-36
38

10 E 3623-041 Resistor 1/4W 62K J 1

12 E 3181-041 Resistor 1/4W 180 J 1

13 E 3683-041 Resistor 1/4W 68K J 1

14 E 3333-041 Resistor 1/4W 33K J 1

16 E 3105-041 Resistor 1/4W M J 1

20,21 E 3223-041 Resistor 1/4W 22K J 4
27,28

22,23 E 3472-041 Resistor 1/4W 47K J 4
29,30

37,39 E 3221-041 Resistor 1/4W 220 J 2

C 1,3,19 E 2104-330 C. Capacitor DD306-63F104Z212 3

2 E 2010-010 El. Capacitor  16MR-100 1

4 E 2047-640 El. Capacitor = 35MR-47 1

5 E 2001-650 El. Capacitor 50MR-1 1

6,102 E 2310-220 My. Capacitor DMY21H473K 2

7 E 2000-020 El. Capacitor FSOH-473Z 1

8,16 E 2147-060 C. Capacitor DD804-63B471K50 4
17,101

9,10 E 2110-340 C. Capacitor DD107-63R101J50 2

11,14 E 2110-270 C. Capacitor DD806-63F103Z50 3
20

12,13 E 2110-380 C. Capacitor DD804-63B102K50 3
15

18 E 2110-290 C. Capacitor DD806-63F103K50 1

21,22 E 2022-500 El. Capacitor 16MR-22 4
25,26

23 E 2010-650 El. Capacitor = 50MR-10 1

24,27 E 2047-615 El. Capacitor 16MR-47 2

48

Download from Www.Somanuals.com. All Manuals Search And Download.




CBM-710/720 Service Manual

PARTS LIST
CONTROL BOARD ASSY : RS232C CBM-710/720
Ref. No. Parts No. Description Qty Remarks
CP 1,58 E 2110-300 C. Capaciotr DD306-63F104Z212 5
11,13
OSC E 501-150 Crystal CSA7.37MT40 1
L 1,2 E 4009-300 Coil SN-3-200 2
Bz E 7151-120 Buzzer MEB-12-5 1
DS 1,2 E 5103-350 Dip Switch KSD-8 2
SW 1 E 5104-330 Slide Switch MMS A2-2 1
E 4010-290 Heat Sink 1 forTA1
S3x8 Pan Head Screw M3 x 8 2 forTA1
N 3-1-N Nut M3 2 forTA1
S3x10-S Pan Heat Screw M3 x 10 1 for CN 2
CN 1 E 4800-915 Connector 5267-05A-X 1
2 E 4800-920 Connector 25KC0050-120 1
4 E 4800-925 Connector 5267-17A-X 1
5 E 4800-930 Connector 5267-09A-X 1
6 E 4800-935 Connector 5267-07A-X 1
7 E 4800-940 Connector 5268-02A-X 1
8 E 4800-945 Connector 5267-04A-X 1
9 E 4800-950 Connector 5267-03A-X 1
49

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

w
[e]
-3
1]
< w2 Q N7
x=_ - te’ g
w ~©  25KC0050-120 qc'z%x S
) 5 - A C10
IS Dliq358 y s/ 854 :‘3
222 | Bl posgs e M g1 s 12 CIEEDR1
- RAZ_IOND O 0 @I (ZIEDR2
130 Co30 e N2 A7
= x3
R2CIIRD | & 1R m2kZiedE ~ s 3D cfz\)ms ¥ %“’
5’@0 N g [ TRk o o CZ2or1 | B
b 3 21 R ~3 Z L— r—
&%@@g&“ e = S DL 14306 ]
- /]
Bron pon @)(20 i N R =~
o A |~ B 2 Pl
T (2 — & “i e aLL
> . » [ ~ & N o | I9|—
R N EN =
o o o ©
R: n N A
]S =4 7
. 7 oy S
2 C. i
ey CPa o5 % CIEDRIO!
cro ‘(5 o @ cP2 D PRy REED
- u ~1 RSZID . [
') - O <! 9 b
& - X ~ P RE DR R
X o = U P AT o SR © o CIIORA|Q | ]
= R o QP 2R RO .
S NS | B 3 o R27 C2ZKD .
5 el F w R26CIIED [y
R R25 CIUED o |l (B)S
Akl t P7 L8 RIZTIED |3
Ol ” | S 275 CIIFOR3I™ {|m
2 — 2 7 IORD| [ —<
£ F 2 @ - I (s |
Shef~| < - o o — = oS B
208 1R M & e SN[ R
> LI ol S I R ReCIED R =
2 S I S I V= o ROIOED (o7
Q S A RAALTED) =l ||t
cP3 = “ o RACIDED B @ |P
0Ty ERR 3270 L e
e S ~ o
&l ¢ |41 cke M2 = @ S
RGIEE S o 2N B [
~ == w o < h
Sled_rc 1t | X Q| ~ARulo M
[ 1 RA oo} i N ' i n
o |4 ) THLS 14 (2 ’E [—'IT/ILK_ ] § >
Bz ') OO0 Sh r4 2 ¢ "
y I35 Q@ N ( STA403 | 2 ‘@2
99 ¢ @b
(NG (N5 CN4 (2
5267-074 5267-094 | 5267-174

Jump Wire Setting : RS232C

with Back Up (B) | without Back Up (N)
Jumper 1 Open C-N Short
Jumper 2 C-B Short C-N Short

PARTS POSITION : CONTROL BOARD UNIT RS232C

50

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
6. Control Board Assy : Parallel CBM-710/720
Ref. No. Parts No. Description Qty Remarks
IC 1 E 104-200 LSI (CUP) M50734SP 1
2 E 107-130 LSI (PROM) M5L27128K 1
3 E 104-220 LSI (RAM) uPD4464C-15L 1
4 E 2010170 IC (TTL) SN74LS373N 1
5,14 E 2010220 IC (TTL) SN74LS240N 2
6 E 2010230 IC (TTL) SN74LS375N 1
7 E 2010240 IC (TTL) SN74LS139N 1
8 E 2010250 IC (TTL) SN74LS04N 1
9 E 2010260 IC (TTL) SN74LS11N 1
10,13 E 2010200 IC (TTL) SN7406N 1
11 E 2010270 IC (TTL) SN74LS14N 1
12 E 202-610 IC uPC393C 1
TA 1 E 390-100 Tr. Array HA13408 1
2 E 390-120 Tr. Array STA403A 1
TR 1 E 319-117 Transistor 2SA1175HF 1
2-5,8 E 359-278 Transistor 2SC2785HF 9
9
101-103
6,10 E 327-030 Transistor 2SB731L 2
7,11 E 360-020 Transistor 2SD809(1)L 2
ZD 1 E 403-060 Zener Diode RD3.0EL1 1
RA 1 E 3103-140 Re. Array SR-8RA-10K 1
2,3 E 3103-170 Re. Array SR-9RA-10K 2
4 E 3013-090 Re. Array SR-4RB-1K 1
5 E 3332-120 Re. Array SR-12RA-3.3K 1
6 E 3102-110 Re. Array SR-10RA-1K 1
R 1 E 3152-100 Resistor 1/4W 15K F 1
2 E 3272-090 Resistor /4w 27K F 1
3,101 E 3102-041 Resistor 1/4W 1K J 2
4 E 3222-041 Resistor /4w 2.2K J 1
5,7,15 E 3332-041 Resistor /4w 3.3K J 6
101-104
6 E 3473-041 Resistor 1/4W 47K J 1
51

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
CONTROL BOARD ASSY : PARALLEL CBM-710/720
Ref. No. Parts No. Description Qty Remarks
R 8,17 E 3101-041 Resistor 1/4w 100 J 2
9,11,18 E 3103-041 Resistor 1/4W 10K J 8
19,24-26
31
10 E 3623-041 Resistor 1/4W 62K J 1
12 E 3181-041 Resistor 1/4wW 180 J 1
13 E 3683-041 Resistor 1/4W 68K J 1
14 E 3333-041 Resistor 1/4W 33K J 1
16 E 3105-041 Resistor 1/4W M J 1
20,21 E 3223-041 Resistor 1/4W 22K J 4
27,28
22,23 E 3472-041 Resistor 1/4W 47K J 4
29,30
C 1,3,19 E 2104-330 C. Capacitor DD306-63F104Z212 3
2 E 2010-010 El. Capacitor  16MR-100 1
4 E 2047-640 El. Capacitor = 35MR-47 1
5 E 2001-650 El. Capacitor 50MR-1 1
6,102 E 2310-220 My. Capacitor DMY21H473K 2
7 E 2000-020 El. Capacitor FSOH-473Z 1
8,16,17 E 2147-060 C. Capacitor DD804-63B471K50 3
9,10 E 2110-340 C. Capacitor DD107-63R101J50 2
11,14 E 2110-270 C. Capacitor DD806-63F103Z250 3
18
12,13 E 2110-380 C. Capacitor DD804-63B102K50 3
15
20,101 E 2147-060 C. Capacitor DD804-63B471K50 2
CP 1,58 E 2104-330 C. Capacitor DD306-63F104Z212 5
10,12
OSC E 501-150 Crystal CSA7.37MT40 1
L 1,2 E 4009-300 Coil SN-3-200 2
Bz E 7151-120 Buzzer MEB-12-5 1
52

Download from Www.Somanuals.com. All Manuals Search And Download.




CBM-710/720 Service Manual

PARTS LIST
CONTROL BOARD ASSY : PARALLEL CBM-710/720
Ref. No. Parts No. Description Qty Remarks
DS 1 E 5103-350 Dip Switch KSD-8 1
E 4010-290 Heat Sink 50-0032 1 forTA1
S3x8 Pan Head Screw M3 x 8 2 forTA 1
N 3-1-N Nut M3 2 forTA1
CN 1 E 4800-915 Connector 5267-05A-X 1
2 E 4800-895 Connector MRD-36SB-130 1
4 E 4800-925 Connector 5267-17A-X 1
5 E 4800-930 Connector 5267-09A-X 1
6 E 4800-935 Connector 5267-07A-X 1
7 E 4800-940 Connector 5268-02A-X 1
8 E 4800-945 Connector 5267-04A-X 1
9 E 4800-950 Connector 5267-03A-X 1
53

Download from Www.Somanuals.com. All Manuals Search And Download.




CBM-710/720 Service Manual

(%)
RD-36<8- c6 5268 lry7
TN
N3 c19 ﬁg Rl
JIO O @ R2CIKED
C N % Q7
S — E + - 8
] L S8R GLIERs |3 B
N % CZERe | &
] %)RG Q
@S ] S E I—4—30¢ ]
o S | ks Lo > Nk N
> lae R D A = i
=< e N O & ~B |8 PR
' < B> A = v kn TIE
QO S )
(@)
! - L
U - - )
S CPIO crir (8 CEEDRI01
o ©re e @ ap G racaBR
AN S 4 ~] ™ 15CTIED g "
- A |3
~ ok gLk mco |8 9
s IR (Sl |2 CZZRR28
- w a - CZEOR27_™
Dy CIOEDR2S|,
CITEOR2S|R (B
3 oy 818 CLTORNIS|
R G 7 omaE CIIEORI!
Sk o P =g = CZZor2r LU S 12
— oo
S B[ Jo ” L H 5 O bz sR[R
O] > ~ N n RISCTIRD
of~ ! v M h o B A
aE S| (20 B 88 )| ko g
S e 18] |5 ~ & R2ZTD @13
cP3 @ = “ @ R2LIUK D [ e O
G = RILIED S
g | ' = N2
o) RBis CP4 £3 N
SEIE - 5E O Sk
@A o SRe |SF
: Y IC CPI RA 4 g) - rr; g_’
{q P
WD 315 qysiy | @  ax ] -
o7 g5 a o200 B (e @)=
33 & S &R g (L si4-4034 | cp2 ~ 6o
o =3 :
960 Q06 = oy @
(NG CN5 CN4 €2
5267-07A 5267-094 5267-174 )
Jump Wire Setting : PARALLEL
with Back Up (B) | without Back Up (N)
Jumper 1 Open C-N Short PARTS POSITION : CONTROL BOARD UNIT PARALLEL
Jumper 2 C-B Short C-N Short
54

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
7. Control Board Assy : RS422A CBM-710/720
Ref. No. Parts No. Description Qty Remarks
IC 1 E 104-200 LSI (CPU) M50734SP 1
2 E 107-140 LSI (PROM) M5L27128K 1
3 E 104-220 LSI (RAM) uPD4464C-15L 1
4 E 2010170 IC (TTL) SN74LS373N 1
5 E 2010220 IC (TTL) SN74LS240N 1
6 E 2010230 IC (TTL) SN74LS375N 1
7 E 2010240 IC (TTL) SN74LS139N 1
8,13 E 2010250 IC (TTL) SN74LS04N 2
9 E 2010260 IC (TTL) SN74LS11N 1
10 E 2010200 IC (TTL) SN7406N 1
11 E 2010270 IC (TTL) SN74LS14N 1
12 E 202-610 IC uPC393C 1
14 E 202-620 IC (TTL) SN75113 1
15 E 202-630 IC (TTL) SN75175 1
TA 1 E 390-100 Tr. Array HA13408 1
2 E 390-120 Tr. Array STA403A 1
TR 1 E 319-117 Transistor 2SA1175HF 1
2-5 E 359-278 Transistor 2SC2785HF 9
8,9
101-103
6,10 E 327-030 Transistor 2SB731L 2
7,11 E 360-020 Transistor 2SD809(1)L 2
ZD E 403-060 Zener Diode RD3. OEL1 1
RA 15 E 3103-140 Re. Array SR-8RA-10K 2
2,3 E 3103-170 Re. Array SR-9RA-10K 2
4 E 3013-090 Re. Array SR-4RB-1K 1
R 1 E 3152-100 Resistor 1/4wW 15K F 1
2 E 3272-090 Resistor /4w 27K F 1
3,101 E 3102-041 Resistor 1/4W 1K J 2
4 E 3222-041 Resistor /4w 2.2K J 1
5,7,15 E 3332-041 Resistor /4w 3.3K J 6
102-104
55

Download from Www.Somanuals.com. All Manuals Search And Download.




CBM-710/720 Service Manual

PARTS LIST
CONTROL BOARD ASSY : RS422A CBM-710/720
Ref. No. Parts No. Description Qty Remarks
R 6,35 E 3473-041 Resistor 1/4W 47K J 5
38-40
8,17 E 3101-041 Resistor 1/4wW 100 J 2
9,11 E 3103-041 Resistor 1/4W 10K J 8
18,19
24-26
31
10 E 3623-041 Resistor 1/4W 62K J 1
12 E 3181-041 Resistor 1/4wW 180 J 1
13 E 3683-041 Resistor 1/4W 68K J 1
14 E 3333-041 Resistor 1/4W 33K J 1
16 E 3105-041 Resistor 1/4W M J 1
20,21 E 3223-041 Resistor 1/4W 22K J 4
27,28
22,23 E 3472-041 Resistor 1/4W 47K J 7
29,30
34,36
37
32,33 E 3100-041 Resistor /4w 10 J 2
C 1,3,19 E 2104-330 C. Capacitor DD306-63F104Z212 3
2 E 2010-010 El. Capacitor  16MR-100 1
4 E 2047-640 El. Capacitor = 35MR-47 1
5 E 2001-650 El. Capacitor 50MR-1 1
6,102 E 2310-220 My. Capacitor DMY21H473K 2
7 E 2000-020 El. Capacitor FSOH-473Z 1
8,16 E 2147-060 C. Capacitor DD804-63B471K50 3
17
9,10 E 2110-340 C. Capacitor DD107-63R101J50 2
11,14 E 2110-270 C. Capacitor DD806-63F103Z50 3
18
12,13 E 2110-380 C. Capacitor DD804-63B102K50 3
15
20,21 E 2110-330 C. Capacitor DD804-63B101K50 3
101
CP 1,58 E 2110-300 C. Capacitor DD306-63F104Z212 5
11,13
56

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
Control Board Assy : RS422A

CBM-710/720

Ref. No. Parts No. Description Qty Remarks
osC 1 E 501-150 Crystal CSA7.37MT40 1
L 1,2 E 4009-300 Caoil SN-3-200 2
BZ E 7151-120 Buzzer MEB-12-5 1
DS 1,2 E 5103-350 Dip Switch KSD-8 2
E 4010-290 Heat Sink 50-0032 1 for TA1
S3x8 Pan Head Screw M3 x 8 2 for TA1
N 3-1-N Nut M3 2 for TA1
CN 1 E 4800-915 Connector 5267-05A-X 1
2 E 4800-955 Connector JEY9S-1A1A-90 1
4 E 4800-925 Connector 5267-17A-X 1
5 E 4800-930 Connector 5267-09A-X 1
6 E 4800-935 Connector 5267-07A-X 1
7 E 4800-940 Connector 5268-02A-X 1
8 E 4800-945 Connector 5267-04A-X 1
9 E 4800-950 Connector 5267-03A-X 1
E 4024-050 Connector Cover 1
M 3 x 10 Pan Head Screw M3 x 10 1

Download from Www.Somanuals.com. All Manuals Search And Download.

57



CBM-710/720 Service Manual

N )
(U R _ 5268
o ) JET-q$-1A14-90 chf;,( - 02A %7
& ¥ = 72
: 4 W = L e
S & = ORI IN S S RIGIEED"
RIODATED A m= § % JIO O @9 R2CZIRD
RGO Q) BY o 5 ¢ N w /\R7 x,
R37@D c<> ./ - ./ . RN ] X W
RI8HIKD o o O o on IR IR B
r6 1 SQ UU ~ N 2R | &[S
R35 QIO JIEOR6 | &
N — 4530 L:
N N s ~on2b!
O S S ~ Ry xR
2 LF s PR |2 s ¥ 3|k
N RN S RE ok 25| &
% 5'1 ™ @ N 0] 0 o @ | =
O) Qo
S o -
O (C&’; cPq CPIO cPI1 CP12 8 CIEDRI0!
@ © @ &I cpEpRi3
— v, o O S RSCIED [&
B S - | ORR cameas
SO ol H E CLIORM| 3
o x [ IR ol |opB |z R Yczors b
ol & Ko W [ C2ZZEOR27 -
LN ] = [ .
% . RSCIVED SR (B8
i 3 cpy BIBRAGEIO -~
A | § 27853E CIOEOR3!
" O @ CP6 Ll e o] %
g% u |2 I UG K
s | ] — T O
d | 9= 5 4 p278a 4 5‘@ Y
= | S| e O ol N RI
ISR I S N [ CIOEIRN [
w S |~ A RZLTEO x| (3]l
= v o R2d JOED 301 @
= CZ70R23 Ll Ul
z ~ , U
=z W»n
o (o]
cr4 Y iy © - N
5 < 3 % E
X S R A
3 RA4_ % S | &
4k =] S
Q [A2 @r\
& ( sra4034 | cp2 ~e
(55) @
CN4
5267-07A 5267-094 5267-17A
Jump Wire Setting : RS422A
with Back Up (B) | without Back Up (N)
Jumperd  Open C-N Short PARTS POSITION : CONTROL BOARD UNIT RS422A
Jumper 2 C-B Short C-N Short
58

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
8. OPERATION PANEL UNIT/PE DETECTOR UNIT/OPERATION PANEL JUNCTION UNIT

CBM-710/720

Ref. No. Parts No. Description Qty Remarks
* OPERATION PANEL UNIT **
D 1,2 E 480-250 LED Lamp GLI9NG22 2
3 E 480-260 LED Lamp GL9PR22 1
R 1,2 E 3221-041 Resistor 1/4W 220 J 2
3 E 3471-041 Resistor 1/4W 470 J 1
SW 1.2 E 5102-410 Tact Switch SKH-KAA 2
CA 5 E 4800-960 Cord assy CAS5 1
** PE DETECTOR UNIT**
E 4000-520 P.E. PCB Assy 1
PH 1 E 391-090 Photointerrupter GP2S05 1
E 6650-040 PE Holder 1
CA 7 E 48000010 Cord Assy CA7 1
* OPERATION PANEL JUNCTION UNIT **

E 4000-530 O.P. PCB Assy 1
CN 12 E 4800-935 Connector 5267-07A-X 1
CA 5 E 4800-960 Cord assy CAS5 1

59

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

DI}« —/ LED (GREEN)

R

D3 [ LED (RED)
Swl

TACT SWITCH

Sw2

EEIEERS

CORD ASSY CA5

PC BOARD PC710-04

PARTS POSITION : OPERATION PANEL UNIT

60

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PHI

3

PCTIO-05

~

o

[~

21 1

PC BOARD PC710-05

61

T~

PHOTOINTERRUPTER
GR2S05

CORD ASSY CA7

PARTS POSITION : PE DETECTOR UNIT

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

5267-07A

o [ ] o
LT

CORD ASSY CA 5 PC BOARD PC710-06

OP Junction Block

62

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
9. Auto Cutter AC-2/AC-3
o Qty
Ref. No. Parts No. Description Remarks
AC-2 [ AC-3

1 E 8010-010 Frame Assy (2) 1
E 8010-020 Frame Assy (3) 1
2 E 8011-010 Paper Guid (2) 1 1
3 S26x8 Pan Head Screw M2.6 x 8 4 4

4 E 8012-010 Lock Lever Sssy R 1

5 E 8013-010 Lock Lever Assy L 1
6 E3 E Ring 3 7 2

7 E 8014-010 Lock Lever Spring 2
8 E 8015-010 Cutter Gear Assy 2 2
9 E25 E Ring 25 2 2

10 E 8016-010 Motor Assy (DC24V, 50mA) 1 DC 24V
E 8016-020 Motor Assy (DC12V, 65mA) 1 DC 12v

10-1 E 8017-010 Motor (DH515, DC24v, 50mA) 1
E 8017-020 Motor (DH416, DC12V, 65mA) 1
10-2 E 8018-010 Limit Switch D2F-01FL 1 1
10-3 E 8019-010 Motor Gear 1 1
10-4 E 48000070 Cord Assy (25-0080) 1 1
11 E 8020-010 Worm Gear Assy 1 1
12 S2.6x5-s Pan Head Screw M2.5x 6 2 4
13 SW2x8 Pan Head Screw/W  M2x 8 2 2
14 E 4031-060 Wire Band T18S 1 1
15 E 8021-010 Blade Spring 2 2
16 E 8022-010 Guide Plate 1 1
17 E 8030-010 Blade 1 1
18 E 8023-010 Blade Cover 1 1

19 E 8024-010 Frame Shift 1

E 8030-020 Blade (Full Cut Type) 1

20 E 8025-010 Spacer 2

21 E 8026-010 Hook R 1
E 8027-010 Bracket R 1

22 E 8026-020 Hook L 1
E 8027-020 Bracket L 1

63

Download from Www.Somanuals.com. All Manuals Search And Download.




CBM-710/720 Service Manual

AC-2 12
1

64

Download from Www.Somanuals.com. All Manuals Search And Download.



ice Manu.

CBM-710/720 Serv

Download from Www.Somanuals.com. All Manuals Search And Download.



CBM-710/720 Service Manual

PARTS LIST
10. Winder AW-2
Ref. No. Parts No. Description Qty Remarks

1 E 8500-010 AW Frame Assy 1

2 E 8510-010 Motor Assy (DC24V, 50mA) 1

2-1 E 8017-010 Motor (DH515, DC24V, 50mA) 1

-2 E 8512-010 Motor Gear 1

-3 E 8513-010 Cord Assy (25-0082) 1

3 E 8514-010 Motor Cover 1

6 E 8515-010 W Gear 1

7 E 8516-010 Idle Gear 1

8 E4 E Ring 2

9 E 8520-010 AW Cover 1

10 E 8521-010 AW Top Cover 1

11 E 8522-010 Bottom Plate 1

12 E 8530-010 Rear Shaft 1

13 E 8531-010 Rear Frange 1

14 E 8532-010 Paper Guide 1

15 S3X6-S Pan Head Screw M3 x 6 7

16 E 4031-060 Wire Band T18S 1

Download from Www.Somanuals.com. All Manuals Search And Download.

66




ice Manu.

CBM-710/720 Serv

67
Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/

	Circuit Diagram.pdf
	4-6.  Circuit Diagram: Parallel
	CBM710/720-006-00

	4-7.  Circuit Diagram: RS232C
	CBM710/720-007-00

	4-8.  Circuit Diagram: RS422A
	CBM710/720-008-00



